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Instructions : (1) All questions carry equal marks.
. (2) Simple calculator can be used.
(3) Figures to the right indicate full marks of the questi
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;’ l. () State working rules of limit of a function. 7
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(ii)

'Explain the following terms : (any three) 7

(a) Sample Space

(b) Complementary Events
(¢) Union Event

(d) Conditional Probability '
Three persons x, y and z aims a target. The probability of their hitting the ) ;

§, i and T d 5 respectively. Find the probability that the target will be hit.

OR

P(A), P(B), P(NB) and P(A' N B). 7
Three machines M,, M, and M3 produces 20%, .30% of items daily in a
factory. The percentage of defective items of thése mé hines are respectively 3%,
4% and 5%. An
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(i1)

State probability function of a Negative Binomial Distribution. State its properties
and uses. 7

Thirty percent of potatoes are stale in a lot of potatoes. A person requires 5 good
potatoes. Find probability of getting 5™ good potato when he inspects 9" potato.

- Also find mean and variance of number of failures before getting 5" good potato. 7
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The probability that a person can hit a target in any trial is 0.6. When he hits the
target 4™ time, he gets a prize. Find the probabi]ﬁymhﬁ.m' A o 70
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4. (i) State probability function of a Negative Binomial Distribution. State its properties

and uses. i §

(i) Thirty percent of potatoes are stale in a lot of potatoes. A person requires 5 good
potatoes. Find probability of getting 5™ good potato when he inspects 9"’ ota

4. (i) The probability that a person can hit a target in any trial is 0.
target 4™ time, he gets a prize. Find the probability that h

trial to win the prize. 7
l
(i) A die is thrown and an even number is re . Find the probability
Mmm3malsmllbereqmredbef success 7
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(8) State the formulae of skewness and kurtosis.
(9) State mean and variance of geometric distribution.

(10) In a negative binomial distribution, mean and S.D. are 12 and \/48 respectively, >
then find its parameters, | &
(11) Ifa coin and a die is tossed simultaneously, then obtain its sample space.

(12) If lim Sx+K =10, then find K.
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(2L UEL AHMAL : (S1E5UBL ARL) !
(a) [Reulasia
(b) R a2l

kc) Y| &2l

(d) wRdl Aeua-l

A0 AR x, y A z4 A5 Al sl ANAHL 2 8. du-l Q‘lu't W

ACULAL A4S § i aa:l & l (Aau dlual deud-l 'Elma?t P @ | ) | 9

vyl

% P(A U B) = 0.80, P(A N B) = 0.15 i1 N

P(A/B) ¥4 P(A' N B) 2. R 9 7
A5 Fx231 AR HllHL M), M, vd M, 56l Beligd

630y GirAld 8. A HallAl 248N 3%, 4% Vi 5% WiHle

Uil w6245 A s a3 A4l A8 ¥ vl
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4. () v Buel Qora deuau Rdx ovoudl. doeenl du Gl vudl. 7

(i) G2I51L A8 e 30 251 Gl2151 WRIGL ¢l 25 ABAA § HWRL o215 MSA B dl

MUR o 9% 021§ ARl 53 vielg AR Sl Al 2oL el 24 BRI 53 w2 %uiﬁ

HOL d wdatil gl Heus 2R [Quzel Andl,

AYA .

4. (i) s Al sl wue il Raud k) 23 adl 2eudl 0.6 8, 2R d 2] I , L
(Raur B 6 R A S 1O B Al Selirt Hnadl M2 d- 6 I

;f__ ‘ Al Aicud-L QL.

(i) WAl Gmﬂm A01R GI5| HOL d A0l augtqlw Nl Honeal 12 3 Al

LCRIOLE &l AR 3 dousrt N, 9



(M) Wy BRI welDs Ul S A E(x) = 5, E(y) =3, V(x) = 10 %4 V(y) = 4
SRL el V(2x - 3y) L.

(8) [wddl 2 L215RdAL AL veuAl.

(9) AU ARl Weus 244 [ vRudl.
(10) A5 =31 el RcRuiAl Weus 2 W[ 24sH 12 21148 8, dl A=l % |
(11) s ﬁu& A 25 WAL 25 WA Besindl vl Rsu[qslu &l 6 !
; ) ; (12) Illm_.ssi+l(=10é‘li:lch1{&ilﬁl._ | (




